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Research Entrance Test-2016

No. of Questions : 50
T @ W@ : 50

Time : 2 Hours Full Marks : 200

q97 : 2 qUe | qunE : 200

Note: {1)

2)

(3)

This Question Booklet contains 40 Multiple Choice Questions
followed by 10 Short Answer Questions.

5] 997 gt d 40 axgfte 7 10 @Y Iwig g B

Attempt as many MCQs as you can. Each MCQ carries 3
(Three) marks. 1 {One) mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted
question. If more than one alternative answers of MCQs seem
to be approximate to the correct answer, choose the closest one.

HEHNEH TEIS Ul B 87 B B IS HY | OGS
FEI 0s 3 () sigt 7 B 1 uR% T S @ B
;q:)mmmumagﬁﬁamwaﬂmqm

| Al axgfre gt & ol Sales o g8l S
% fFrebe udfid &, O Frpeaw @8 IR )

Answer only 5 Short Answer Questions. Each question carries
16 (Sixteen) marks and should be answered in 150-200 words.
Blank 5 (Five) pages attached with this booklet shall only be
used for the purpose. Answer each question on scparatc page,
after writing Question No.

Fa 6 (=) TSl N B ovR ¥ ) wQAF wgHq 16 (HiwE)
aﬁw%ﬁmmwwo-zoomaﬁ%&ﬂaBﬁWaﬂm
m%qmgﬁamﬂaﬁgqﬂﬁs(ﬁﬁ)q%‘fwérm
mm%mﬁmsrﬂwwwmgﬁsﬁ,qwm%w
g% FI

P.T.0.



RET/16/TEST-B 870/Commerce

01. Commerce educations is a part of :

(1) Science (2) Technology
(3) Humanities 6 {(4) Agriculture
arfore f3reqr freer @7 T i R

(1) &= (2) THIH

(3) AFgITE= @)

02. Function of an Entrepreneur is ;
(I} Risk taking (2} Service
(3} Money trading @ (4) Personal supervision
[

U IGHT P HE B

(1) SfEd {0 (2) &ar
(3) & F AR (4) =T qHAeoT
03. Company is :
(I) Person {2) Artificial person
(3} Government (4) Co-operation
(1) = 2) FEW =
(3) R (4) Geaiar
04. Shares are issued by : \
(1} Company @ (2) Partnership
(3) Co-operation societies {4) Sole traders
Figr gott Fr=1 g e B ona €
(1) &=l (2) wrSETd
(3) TEH qiafeEr (4) TeHEHl AR



RET/16/TEST-B 870/Commerce

05.

07.

08.

Managing Agency System :
(1) has been abolished (2) will be abolished
(3) has not been abolishe:@j (4) will not be abolished

5= 1rRat gsh
(1) uarq & & Th 2 (2) T H & St
(3) TRt W& #Hr TR R (4) GEIT @ P oo

Profit divided among the shareholders of a Comany is known as :

{1) Bonus % \ (2) Interest

(3) Dividend _ (4) Preference share
w%amﬁﬁﬁﬁwﬁmmaﬁWWﬂﬁwﬁamw
g

(1) IF" (2) @

(3) <THiT (4) ToNfeRRreY 3igr

Good will is :

(1) Liability (2) Asset

(3) Tangible Asset (4) Intangible Asset

O
(1) e (2) R

(3) =T9T TR (4) M wfg
Which one of the following is not Negotiable Instrument »
(1) Promissory note (2} Bill of Exchange
{3) Cheque (4) Currency
ﬁwﬁ@rﬁq—mﬁﬁw—ww-wﬂf%?
(1) gfasm = (2) fafra Ray
@ -4 @) -
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09.

10.

11,

12.

Endorsement of a negotiable Instrument is :
(1) Possible (2) Not possible
(3) Illegal ‘ ' {4) Undesirable
fRfYa9-dea arg-a3 & T B

(1) g (2) A9
(3) s (4) ST

Monopoly indicates :
(1) Iligher price "H"‘\ - (2} Low price
(3] More production { \ (4) Low production

TSRy e weem B

(1) 31 g= (2) e g=m
@) o1 ITEA (4) e sEmEA

In the real rate of discount is 10% and inflation rate is 8% the money
discount rate is :

afe araias e @ 3T 10% 8 3R HaT Whifd &7 8% ® & gaT §e
T 2
(1) 18% (2) 1.25% (3) 0.125% (4) 18.8%

Which of the following is a set of individual product that are closely
related ?

(1} Product Line (2) Product item

(3} Product mix (4) Product depth

Prfafag & & SF-a1 Saed H @98 & o B Fresean sl
B E 7

(1) S dFd (2) I A

) IS (4) IE TETE



RET/16/TEST-B 870/Commerce

13.

14,

15.

16.

Under Halsey Premium Plan, the bonus payable is :

gied Mg Ao & st 39 g
(1) 25% (2) 50% (3) 33.33% (4) 22.5%

When Supply is perfectly inelastic, the entire burden of tax will be

upon :
(1) Buyer (2) Seller

(3) Producer {4) Consumer
79 gfet yolqar SefeEr B, &€ @ qul Wi g3
(1) s (2) fasban

(3) IEH (4) ITHFRT

If a trader’s sales amount to ¥ 18000, his gross profit and net profit is
60% and 40% of sales respectively, his expenses are :

A% o AR @ ey 1180008 I HET AW G gF AW
TeFT @ HAM 60% A 40% ¥ & SHHr =m ¥

(1) 7200 (2) 22500
(3) 23600 (4) T 10800

The money market instrument is :
(1) Bond (2) Debenture
{3} Stock Certificate (4) Ceslificate of deposit

BRI ISR & 6 §
(1) -8 - (2) FOTqH
(3) i qHoTE (4) S wEOgy

—_—

7
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17.

18,

19.

All adjustment entries in final A/Cs are written at two places :
(1) Trading Account and Balance Sheet

(2) Profit/Loss A/C and Balance Sheet

(3) Trading Account, Profit & Loss Account and Balance Sheet

(4) Trading Account or Profit and Loss Accournt and Balance Sheet

WW@%@@@H@QWW&WE@TW%:
(1) I wE # A e #

(2) wre-glY @@ § o} g

(3) =TT W, er-eT wrar s e o

4) SR @ @ g g AT e |

Which of the following is not included in pricing decision ?
(1) Price flexibility

(2} Discount

(3} Transportation cost

(4) Types and forms of advertising

P § @ @ ge Pt # afafia T@ &ar 8 7

(1) ¥ cllsdl (2) T
(3) uieaed arTe (4) fasmas & @eq 9 5T

Estimation of manpower requirement is the objective of :
(I} Human Resource Development

(2) Human Resource Planning

(3) Recruitment Process

(4} Human Resource Policy

qrea aifert AT T A @A SR ¥

(1) wrg wEe e () WE A I
(3) W A (4) AT EEEA A
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20.

21.

22.

23.

If the rate of tax remains same, it is known as
(1) Direct tax (2) Indirect tax
(3) Service tax (4) Proportionat tax

AR HT B T G @A P @ I ey ¥

- (1} H9E R (2) AYETH &I

(3) Har & (4) TR 3T

Which of the following is the marketing function that creates time
and place utilites at a cost ?

(1) Transportation (2} Promotion
(3) Distribution (4} Product development

IEIET § 8 $H-81 AU & & St % qrm @ sar g
T W I B g Fr T 7

(1) =REe (2) wa=e
(3) g (4) SR Ry

Industrial dispute has been defined in industrial Dispute Act, 1947

under section :

el fame sfafras, 1947 At R o ¥ ofeifes fare &t
afvefta fear war &

(1) 2 (L (2)  2(Q) (3)  2() (4} 2(K)
Tax i1s a coutribution :

{1) Optional (2) Compulsory

(3) Necessary (4) Moral

T TH IEE T

(1) ufems | (2) A

(3) JEEF 4) Ay

— P.T.0.
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24. In capital budgeting the term capital rationing implies that :

25,

26.

(1) no retained earnings is available
(2) no external funds can be raised
(3) limited funds are available for investment

(4) fresh investment is not required

ot aster & Yoft Tt w1 oy @
(1) ®fee o Suwer é R

(2) MBI ®UG i FE ITT HHA

3) ffwEr 3 R @ifa wU8 I
@) T3 fafvm @1 orawEEd T B

Consider the following steps

(1) Material consumed (2) Factory cost

(3) Prime cost (4} Cost of production
Frferaa =t 9 e S

(1) wgaF ar (2) HRE@T ALTA
SICNESINN (4) IEAEH SAEIA

The correct sequence of these steps in cost sheet is :
Qe as § o7 axel 1 T ST BN

(1y 1,2,3,4 2y 1,3.2,4

(3) 1,3,4,2 4) 4,3,2,1

When demand is perfectly elastic, burden of tax will be upon :

(1) Seller (2) Buyer

(3) Producer (4) Government
ﬂﬂqmﬁéﬂﬁgﬂm@ﬂaﬂ%,aﬂmmq%m:
(1) fspar 9 (2) sl T

3 FARE 9 (4) R 9T

10
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27.

28.

29,

Promotion activites other than advertising publicity and personal
selling that stimulate interest, trial or puschase by final customers or
others is called :

(1) Push strategy

(2) Pull strategy

(3) Sales promotion

(4) Integrated marketing communication

WWWWW%W%WW
ﬁﬁaaﬁqmﬁﬂmmiﬁﬁmﬁﬁiﬁﬁ%ﬁmaﬁrm
aﬂ%%%qqﬁawaﬂﬁ%ﬁ‘mmmmﬁ%%nﬁ’ﬁmw%,sﬁ
Fed & :

(1) == archt orEhfy (2) @9 arel o

(3) faepm Tanefey (4) T ROvE ey

The oldest trade union in India 1S :
WA H QU SW o§h §
(1) AITUC (2) INTUC (3) UTUC (4] BMS

If a firm has no preference share capital, financial break-cvenllevel Is
defined as equal to ;

(1) EBIT (2) Interest liability
(3) Tax liabi lity (4) Equity dividend

aﬁmmﬁ%w@%ﬁm@ﬂﬁ%%&ﬂumﬁww
B TRAYT FS &, H (&

(1) 4o d. (2) = el
(3) HT YT (4) GHAT 9

P.T.0.
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30.

31.

32.

Which of the following is correct ?
(1) Opening Capital = Closing capital + Additioual Capital - Drawings
— Profit

(2} Opening Capital = Closing capital + Drawings - Additioual capital
- Loss

(3] Opening Capital = Closing capital + Drawings - Additional Captial
~ Profit

(4) Opening Capital = Closing capital - Additional Capital - Drawings
- Loss

Pretfarfgs & & f9-a1 @81 2

(1) SRPwHE 9o = sifxam got + sifafiaa o —emeT™r - o
(2) sRPEE ol - s golt + amEReT - Sifefea gofl - &
3) R POl = AW gel + AR - it i - T
(4) RPN goit = arfr ooft + sifafe goft - STmeReT - EI

Multiple tax system inludes :

(1) Various Direct Taxes (?) Various Indirect Taxes

(3) Various Taxes (4) Income Tax and Service Tax
TEHL TS o utenfes 2@ F

(1) fafay goa +x (2) fafaw oroaw =X

(3] fafae =@ (4) OTEHR TF HAERT

Which of the following is not a step of the new product development

process ?
(1) ldea generation (2) Idea screening
(3) Commercialisation (4) Removal from the market

12
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33.

34.

Fr=fofaa T @ H=-ar 76 Saare e aftear &1 o 7@ 27
(1) T2 et & sofa (2) =g H o
(3) aTfeT==iEmTeT (4) SR | e

In Packing order theory, the first priority is given to :

(1} Fresh Loan {2) Retained Earnings

(3) Fresh Equity {(4) Mix of Debt and Equity
AT smaw e # gy graftear & ol

(1} = =T Fl (2) ©R" HE #)

(3) I gHar H (4) T Ud §HAT 39T Hi

The current ratio of a company is 2:1. State in each of the following

cases, whether the ratio will improve or decline or will have no change :
(a)] Payment of current liabaility

(b} Sale of motor car for cash at a slight loss

(c) Cash collected from customers

(d) Borrowed from bank

(a) (b) fe) ()
1 Improve Improve No Change Decline
2  Decline Improve Improve No Change
3  No Change Decline Improve Improve
4 Improve Improve Improve Decline
- H____-_—_‘"""‘-H——-._
13
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38.

36.

T I B A AT 2:1 8 | qo1Ed Fob PreafdRad wde asmai
| WA guwm ar g a7 IEd FiS uikEd A8 8 ?

() =T T B YT

(b) FET FY H Ths fampa G- sty 9w

() IEH d THI H FAEY

(d) FF |/ e fomm

(a) (b) (c) (d)
I GRS gerom Fg qfae TE gem
2 = gerem Ferem P gREE o
3 @ o W owEm geRm g
4 gaw g gam g2
Under Maternity Benefit Act, now the mothers cén avail maximum
maternity leave for a period of :
(1) 7 months {2) 3 months
{3) 6 months (4) 9 months

A fBaer SRt & o A of sfferddw fhe tatd @b
g ST o et & °

(1} AR FEF (2) M TEM

(3) B: HEM (4) 7 TES

Accounting standard - 6 is related to :
(1) Depreciation Accounting (2) Cash Flow Statement

(3) Accounting for Fixed Assets (4} Accounting for Investments

14
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37.

38.

39.

Gy A h- 6 THEad B ¢
(1) B JQieT § (2) AFT gaTE BEwer |
(3) Tl Wt & dgiees & (4) fafyaeTt & @iy )

Comptroller and Auditor General of India is appointed by :

(1) Prime Minister (2) President of India

(3) Parliament (4) Finance Minister
FULT T ¥R TR A% f¥ar At Prgiey = o ®
(1) gg=E=it gm (2) wgUfd &ra

(3) SRREET = (4) Rresh g

The buying process starts with :
(1) Information search (2) Need recognition
(3) Evaluation of alternations (4} Purchase decision

%4 WA WO By B
(1) gaemet i @em | (2) SEAITHA H GEHHA @

(3) Taepedi & TeiRT @ 4 wa Profg @

If r = k, then market price by Walter’s Model and Gordon’s Model for
different payout ratios would be :

(1} Zera {(2) Unequal

(3] Equal (4) Negative
uﬁr=ke,aaamgwaquﬁ=ﬁéaﬂrsa%m§m
A BN

(1) 3 (2) AGHH

(3} HHH (4) FUTTHh

15
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40. Induction is the last process of :
(1) Selection (2) Recruitment
(3) Human Resource Planning (4) Interview

vag ey afear ® ¢
(1) =G & (2) Wt A
(3) WG GEEE FEe @l (4) CTETERR

16
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Short Answer Questions
g IaNT g9

Note: Attempt any five questions. Write answer in 150-200 words. Each
question carries 16 marks. Answer each question on separate page,
after writing Question Number.

5l dfg met & Sow dfme ) 5% @ SER 150-200 S &
Wt@mﬁlﬁﬁﬁ%lﬁmmwwg@w
U HE Rrasy ge a5

01. Explain Miller - Orr Model of Cash management.

ﬁ%ﬁiﬂﬁ%ﬁmaﬁ?ma&w@n

02. Snggest measures to minimise fatigue.

THE HH FIA $ IO G912 |

03. Explain in brief the various philosophies of marketing,

WmﬁﬁﬁﬁmﬁWI

04. “Is capital levy the best source of repaying public debte” 2 Give
arguments.

“wgﬁﬁwmaﬁaﬁzﬁm%wwwaﬁqmgn?m
A |

05. Distinguish between Financial Reporting and Financig] Statements.

ferirar s o fowity el § 92 g

17
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06.

Q7.

08.

09.

10.

Differentiate between factoring and Bill discounting

Pl we fat gger # TR gaEgd |

Explain the quality of work life.
P e & TOT @l STl P |

How are business and marketing practices changing ? Discuss.

W@WWWW@W%@Q???W
O |

Explain deficit financing.

MY HEeE Y THEEd |

What are requisites for installation of a uniform costing system ?
Explain.

wvquﬁwﬁiﬂ-ﬂﬂwﬁgﬂﬁmﬁﬂﬂﬁﬂ-ﬁﬂﬁ%?
gy |

18 400



RET/16/TEST-B 870/Commerce

Question No. Page for Short Answer
q Hea g IEHE & Rm g
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Page for Short Answer

wg Said 3 fom g
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Question No. Page for Short Answer
ue EE 7y Sod & R g9

22



RET/16/TEST-B

870/Commerce
Question No. Page for Short Answer
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